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SECTION - II

MATHEMATICS
1 1 _
26. a-b T h—a = ?
1 (a—0b)+(a—0b)
(€0 Ry ¥ () @—b)b-a)
3) 1 4 0

27. The LCM of two co-prime numbers is 910 and their sum is 83. What will be
the difference between the two numbers?
(1) 57 (2) 60
3) 81 4 75

28. Two right angled scalene triangles are joined along their hypotenuse. Which of
the following figures will be formed? (Select two correct options)
(1) Rhombus (2) Kite
(3) Rectangle (4) Trapezium

29. 60 /. milk contains 15% fats and 40 /. milk contains 8% fats. If these two milk
are mixed together, then what will be the % of fats contained in the mixture?

(1) 87.8 % 2) 122 %
3) 1220 % @) 122 %
IO 7
30. Find the value of : 2 >1</36 X181
2572 % 400" ?
(1) o4 Q) 54
(3) 0.54 @ 0.064

SPACE FOR ROUGH WORK

0811 / Kannada Set-A 8 of 32 Contd...



26.

27.

28.

29.

30.

RN - 11
nesds

1 (a=b)+(a—b)
atb @ (a=b)(b-a)

3 1 4 0

TR ABRRY FoBNe wmR 910 9T, wPNY Wedwd 83 9T, TWTET 8 AT@
FoB NP0 FTYRER), ?

(1) 57 2) 60

(3) 81 4 75

TR DFCHT VRBE® FoLIBRET EBRET BLAFTIY WHCW0T tReRIIN FINTINY T
o= @%@ BO3RNTINIZT ? (o&merj@dm T wom:om@s%@os% m@@)

(1) Ry PEeel (2) =3en

3) ToeBRCR @) Ioow 1PEee

60 ©¢ce3T TOTA I BTRed 15% 2. 3933 40 Dee3T TATE_ 3503 B:wed 8 % 2T.
DT TOOT, WEDNRBATN BTIQTOT FZ0T TRHIED DTWROZTD ?

(1) 87.8% 2) 12.2%
(3)  1220% 4) 122%
1 1 1
23¢9 B0 BB 27A x36°x 81"

25% X 400V2
(1) o4 (2) 54
(3) 0.54 (4) 0.064
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31. In a circle, the measure of a major arc is 60° more than double the measure of
its minor arc. What will be the measure of its major arc?
(1) 100° (2) 300°
(3) 220° 4) 260°

32.  Write the degree of the product of (x*—27)(x*+2x+2)
(1) 6 2) 5
3) 3 4 2

33.  Which of the following options indicate the volume of a sphere?

() 1x 2z @) Lx4mp
@ §xr @

34. Rohit purchased a 3 year old used machine from Mohit for Rs. 8,57,375. If
the rate of depreciation is 5%, for how much did Mohit must have bought the

machine ?
(1) Rs. 10,00,000 (2) Rs. 12,00,000
(3) Rs. 8,00,000 (4) Rs. 9,00,000

35.  Which of the following are the factors of a trinomial?
(a — by — 17 (a — b) — 60 ?

(1) (@—-—b-12) (a — b +5) 2) (a@a—-b+12) (a — b - 5)

3) (a@a-b+20)(a—->b-3) 4 (@-b-20)(a-b+3)
36. (3x+7) is an even number. What will be the square of ‘x’ from the following

options?

(1) Odd number (2) Even number

(3) Prime number (4) Twin prime number
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36.

BBFITYOD DTEO [BoFY FOANY Fg VT FOTT WYSORR VFVTORT YO ARBN0S
60° oo %agjd. TOMOTT VTOO WBIFY FOIT €993 @%—-’%?

(1) 100° (2) 300°

(3) 220° (4)  260°

(3 = 27) (&% + 2x + 2) 5 WBOBOOD TOFETICT FHISHRY, ?
(1) 6 2 5
(3) 3 4 2

FINTRNES, A ROFE0 Keeon PIFOT 303, BOFRTS 9

() Lxomr @ fxanr
() 57 (4) A

TRe&ERd RRe%ES FE000T 3 SR YUBOSRNAT TYAD 03008BI), 8,57,375 de nen
BR0EBAOTTD 03008 Scde T FRE Je 5% TOOT BRE ABRMIETT BRekIT &
0R0BTR) 3R, T NPT 310070 3R0RTIT 2

(1) 10,00,000 3. (2)  12,00,000 T.

(3) 8,00,000 c». 4) 9,00,000 3.

(a—b)* = 17 (a—b) — 60 33 WBOBOOI BTONT FINSR)NS T 0IRTJE ?
(1) (@-b-12) (a — b + 5) 2) (@-b+12) (a — b - 5)
(3) (a—-b+20)(a—b-23) 4) (a—-b-20) (a—b+3)

(3x + 7) 8 e30R083,03RNT TMOTT x” B3 F033,00 SNF PN SPYNIY 03RRI 2
(1) Q=R Ross, (2) = oG
(3) Howo Rosd (4) ADRoR® Zosd
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37.

38.

39.

40.

41.

2
Abdul covered gth distance between the towns A and B by car and % the

distance by bus. Still town B is 15 km away. What may be the distance between
the town A and B ?

(1) 105km (2) 450 km

(3) 75km (4) 150 km

The capacity of a bucket is 10/ If it is to be filled to its full capacity, how
many bottle of 1.25/ will have to be emptied in it?

(1) 8 bottles (2) 80 bottles

(3) 10 bottles (4) 100 bottles

If a supplementary angle of an angle’s complementary angle is 108°, find the
measure of the angle.

(1 72° (2) 18°
(3) 98° (4) 198°

In the adjoining figure, the diagonal of a square is 12cm. Find the length of
every side.

&
1 \’\, €
(1) % cm | 2) 6 cm
(3) 122 cm 4) 6y2 cm
(0.3)2 + (0.1)2 — (0.2)2 = ? (Select two correct options)
(1) 0.6 2) (0.36>1/2
(3)  /0.0036 (4) 0.06
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€033 @dgﬁ?
(1) 105 8.50. (2) 450 8.50¢.
(3) 75 .50 (4) 150 &.20¢.

2,00 LS 808 10 OeesT BT, & w3 VeOOT FPDF BoowWdE FLTN 2,070 T

Oee3T we3D0T @e,—-izﬁ@ 29TV QT ToFLIETINOBD 2
(1) 8 mud (2) 80 woes®

(3) 10 woud 4) 100 t2u®

2,00 BRETT BOFRTE 3ReIT FpTs3ReT 108° 9T TS & 3esT @998 o), ?
(1) 72° 2) 18°
(3) 98° (4)  198°

20D ePTIT Fear 12 Fo. 0¢. AT TMOTT WTT BE3LOT GRT NTYSE 2R, 2

=
€ o’ 1
Q’ﬂa
(1) % 0. Qe 2) 6 Fo. aoe.
3) 1242 Ro. e, (4) 642 Fo. Qe.

(0.3)2+(0.1)* = (0.2)* = am) ? (C3Reriatha S8 Bodwe obnwR) 508 BRE0. )
(1) 06 @ (036)>
(3) +0.0036 4) 0.06
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42.  Four vertices of a square lie on the circle as shown in the figure. The center of
the circle is 'O' and radius is 7cm. Find the area of the shaded portion.

.0
(1) 54 sq. cm (2) 55 sq. cm
(3) 56 sq. cm (4) 57 sq. cm
43. In the adjoining figure, [, m, n are parallel lines. mZ DAO = 60°,
mZ OCE = 35°, then mZ AOC = ?
LA .l
67
<« - > m
B O\ G
< 350 > N
E C
(1) 25° (2) 95°
(3) 85° (4) 105°

44. Which of the options given below are incorrect statements? (Select two correct
alternatives)

a. A ray has a midpoint.

b. A line has a midpoint.

c.  Chord of a circle has a midpoint.

d.  Perpendicular bisector of a line segment passes through its midpoint.

() a 2) b
3) ¢ 4) d
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42. 000D ©7EODY, '0' FIFYT FeoB, WoRdNT. WIFIT &y 7 Fo. ¢, VTS Teawos
PN FEZFO B0 LROWO.

(1) 54 Fo. Qoe. (2) 55 @ Ho. awe.
(3) 56 @ 0. Q. (4) 57 @@ Ho. awe.

43. @%@o&@éeﬁ [, BeRm BeR n V) A=R003T BeRmnes. m LDAO=60°, m LOCE=35° f&%{ﬁ
m/AOC = eDm_')%?
D A /
67
| 35°
E C

(1) 25° (2) 95°
(3) 85° (4) 105°

\

v
3

A

\J
S

A

44.  IINTZNIY, wodmer, TOIBE I FOWD SBOD. (oﬁfoeﬁg@dad Q0B wom'rojamﬁ@poi%

SRREO)

a.  306a8 2,003 SOFWOR [IES.

b, Ber o ®ogieiond [T,

c. WRFIT WT 007D WOF O QIR

d.  TeamwedoRT wow QLPKE WTT OG0TV TOOI), BREMIZTS
(1) a 2) b
B) ¢ 4) d
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45.  Which of the following terms, when added to the binomial 1 + 644%b2, will
make it a perfect square? (Select two correct alternatives)
(1) 16 ab (2) 8 ab
(3) —8ab 4) - 16 ab

46. By which of tests, A ABC and A DCB from the given figure will be congruent?

A D
B C
(1) SSS test (2) SAA test
(3) ASA test (4) SAS test

47. Find the ratio of x and y, if a number is 20% of ‘x’ and another is 25% of y’.
(1) 5:4 2) 4:5
3 2:3 4) 3:2

48. The weight of 20 students from a class is given in the frequency table. Find the

mean of their weights. (Select two correct alternatives)

Weights of the students (in kg) Frequency (f)
20 11
21 8
22
(1) 20 kg 50 gm (2) 20.5 kg
(3) 20.05 kg (4) 20 kg 500 gm

SPACE FOR ROUGH WORK
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45.  1+64a®b* 331238 008 TPear TIRFTHCINRALD FENT IRRR BORTIToR IiTores
TN ? (oﬁmrg_gé)dod Svele:S) wonarojoﬁ@?Q@oj% M@é)
(1) 16 ab (2) 8 ab
(3) -8 ab (4) -16 ab

46. 200D ©7B0NY AABC 3083 ADCB D83RTS 03058 BOENROAIT0N DFTRT 9.

A D
B C
(1) oedord g, (2) iedee o
(3) Feyhde RoF (4) godeerd Tog

47. 20w Boad (x)T 20% 083 2R B8, ()T 25% BRRT 3. TmesS v @83 Y’ 1
MOFBREZT DR, ?
(1) 5:4 (2) 4:5
(3) 2:3 4) 3:2

48. 2,000 BAFTYED 20 LTRHFNY 27 (aépsar 3.M9,0) TE) 39 BRB@ONG. ©TT Boedots
DTRRFNY BRFE BOFEBRT FOB &ROWD. (C3RENITOT TR wodfaro:bﬁ@js% 08,

RREO)
NTRRENY T (x) 8. M0 NI, SR38 (f)
20 11
21 8
22 1
(1) 20 3.M0 50 MO (2) 20.5 8.0
(3) 20.05 8.0 4) 20 8.0 500 MO

SPACE FOR ROUGH WORK

0811 / Kannada Set-A 17 of 32 P.T.O.



49. [ ABCD is a cyclic quadrilateral. Point E lies on the ray BC as B — C — E.

If mZ DCE = 95°, then m£ DAB =?
A

(1) 85° (2) 95°
(3) 190° 4) 170°

50. From a rectangular thermocol sheet with dimension 20cm % 10cm, a rectangular
piece of 2cm X 5cm dimension is cut. Which of the following sentences will
be correct for the thermocol sheet?

20cm
£
5 2 S
=
(1) Perimeter will increase (2) Perimeter will decrease
(3) Perimeter will remain same (4) Perimeter will get doubled

51. Find the incorrect statement from the following:
(a) Every prime number is a natural number.
(b) Every rational number is a real number.
(c) Sum of any two prime numbers is an even number

(d) HCF of twin prime numbers is 1.
() a 2) b
3 ¢ 4) d

SPACE FOR ROUGH WORK
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49.

50.

51.

wooD 38 L1ABCD w380 1P8re30x. 0o B — C — E. 9% 288e0 wordness
m ZDCE = 95° 238 m ZDAB = o= ?
A

(1) 85° (2) 95°
(3) 190° 4) 170°

20T 3030TFT 20 F0.Q0¢. X 10 Fo.80e 259303 FIPedeee Qo 2 Fo.80¢. x 5 Fo.
Q0e. HYZOD SODTHTT YON TZOATN YVYTOBH FIRF CFIOE B Fon wZe0RITH
20 Fo.e0e.

N

(1) oW BRI, (2) o B3RP ACRMOIT.
(3) TOE @, YuPcdId (4) oW BITRCIRMIZT.

1030.800¢.

IONTRNIE, 3T DT, MO0,

a.  BEOIROTD BRLT0S, W FAINTT F08J 03BN

b.  FT8o3Romd TOSOD T, BT R B0a3,03RNTOZT.
C.  CINRT SR BRUI0NY 1300 Be30m023,030¢ WIS,
d.  #ReRRRO FoBnY BT 1 933

() a (2) b

3) ¢ 4) d
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52.

53.

54.

In the figure, line / and m intersect in point O. Find the value of y’.

(1) 164° 2) 56°
(3) 34° 4)  146°

Read the following statements and select the correct alternative. (Two correct
options)

(A) The numbers divisible by 3 and 4 are divisible by 8.

(B) All numbers that are divisible by 2 and 9 are divisible by 18.

(C) The numbers divisible by 6 and 10 are divisible by 2.

(1) Statement ‘A’ incorrect (2) Statements ‘B’ and ‘C’ are correct

(3) Statements ‘A’ and ‘B’ are correct (4) Statement ‘C’ incorrect

Which of the following conditions should be given to make the total surface area

of a sphere and cylinder to be equal?

(1) Diameter of a sphere should be equal to the radius of a cylinder.
(2) Radius and height of a cylinder is equal to the radius of a sphere.
(3) Radius of a cylinder should be double the radius of sphere.

(4) Height of a cylinder should be equal to the diameter of the sphere.

SPACE FOR ROUGH WORK
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52. 33039 dek ] B3y Sedm 9 'O’ WoRdRIE, RIS Y T e 370000

(1) 164° 2) 56°
(3) 34° 4) 146°

5§3.  3INT QpeRnnvon cdrer; Wodwro3EE) 8033 BREO.
@) 3 D082 4 008 VPEOTIR we Fo N 8 00T QIR BT
W) 20829 008 eges, AT e, FosdTied 18007 DRy ATOTES.
) 6 38310 00T D BOE BoBRW 2 00T LR BT,
(1) O3 ‘@’ 8x1Nd (2) QDT ‘W D) ‘T ROCTINGS.
(3) DFOT ‘e’ Y ‘W’ FOOIPN. (4) QT ‘T TN,

54.  ToERReon i) BRFO WY RR0d FFRFO INRT Q0B FowON oIRE Zond
CoBiNevcing

(1) Areod w3 B3 BeBRRT &ty IRHTATLITMIZT.
(2) TorRReT &y @023 230 RReOT &z TBR) QTLIEE.
(3) ToBrRewT &) NReoT &R VB QTLIE.

(4) TorRROT 283, RRCVT [UITRY, BTLIee.
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5S.

56.

57.

58.

59.

A fruit seller purchased 48 dozen bananas at the rate of Rs. 48 per dozen. 1
dozen bananas were spoiled. He sold the remaining bananas at Rs. 72 per dozen.

How much profit or loss did he incurr in this transaction?

(1) Rs. 1080 loss (2) Rs. 1080 profit
(3) Rs. 72 loss (4) Rs. 48 profit

In a cuboid shape tank, water is being poured from the tap at the rate of
60 //min. The capacity of the tank is 108 cu.m. How much time will be required
to fill the tank to half of its capacity?

(1) 10 hrs. (2) 3 hrs.
(3) 30 hrs. (4) 15 hrs.

What will be the compound interest on Rs. 30,000 at the rate of 12% p.a. in

l%years?
(1) Rs. 5400 (2) Rs. 6516
(3) Rs. 5696 (4) Rs. 5616

Using the digit only once, from one digit prime number form the greatest and
smallest 4 digit number. Which of the following options will not divide the
difference between these numbers completely?

(1 3 (2)
3 9 4 7

Which of the following options is not a pythagorean triplet?
() @3,4,5) (2) (7, 24, 25)
(3) (B, 15, 17) 4) (5, 13, 14)

SPACE FOR ROUGH WORK
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5S.

56.

57.

58.

59.

2y TS TTROCW 48 T BOPF® Bt BONT 48 BOPT tRIBENITRY, FR0B
@d)ﬁ@eodo 1 PR WYL TR LWIEOBH DO, WITENIR) 72 dn B3PI

TB00T BRTE BRRTT 85 FHRTIOEY LRIMT T3 LT Tod DR, ?
(1) 2 1080 Tp. (2) o3 1080 3.
(3) T 72 3. (4) o348 On.

2,00 VIS BFITT V0T TPORY B 0 60 Dee3T ToF 2,080 ILLOT QT
WePGTI. TPOT 508 108 . Q0¢. BT TMTT & TP WTF B0V FLVTN DR e

L3eTnORNTD ?
(1) 1033 (2) 3@
(3) 303> 4) 15 z%

D. 3. T 3¢ 12% 300 30,000 S Ad 172 IR 3808 m) Snmmd ?
(1) 5400 3. (2) 6516 3n.
(3) 5696 3. (4) 5616 3.

20330808 PERBOLN BECIROTI), 2.0T¢ IO YVTCIRENA FOIRTIMIT TV, LOITIY
DYBR, BRT B0a3, T T, WosNY DYFR, 1T BosY, VR)NY FT9IE 03NS o&ﬁ o200

TP PINTRENOBOE ?
(1) 30503 (2) 500w
(3) 9 oow (4) 700w

3SNT 03 o@j NS AZRT TODTINRCTIS §ERLITON ?
() (3,4,5) (2) (7,24,25)
3) (8,15,17) 4) (5,13, 14)
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60.

61.

62.

63.

64.

—11
What is the product of two integers between which -9 lie?

13
(1) 65 2) 90
3) —-72 4) +72
((11639)+2__11 = How much?
(1) 171 (2) 168
3) 169 4) 170

I had to give Rs. 7 change to Rickshaw uncle. I had enough coins of Rs. 1,
Rs. 2, Rs. 5. Then in how many ways can [ pay him?

(1) 6 ways (2) 3 ways
(3) 5 ways (4) 4 ways

The average age of Ria and her 4 friends is 24 years. Their ages are (3m — 2),
2m + 7), (4m — 7), B3m), (3m + 2) respectively. Find the value of ‘m’

(H 7 2) 9
3) 8 4 5

As the rate of ticket of a play increased by 25%, the sale reduced by 15%. What

is the rise or fall in the total income?
(1) 6.25 % rise (2) 6.25 % fall
3) 12.5 % rise 4) 12.5 % fall

SPACE FOR ROUGH WORK

0811 / Kannada Set-A 24 of 32 Contd...



60.

61.

62.

63.

64.

—L2 2 Sosheans Rosgosin IR 0@ Femros Rose METOF © Fomoros

m’o&%r{%ﬁ NOT0500 o,m% 2

1) 65 2) 90
3) -72 @) +72
(169°-1 _
(13)-1 ~ N7
(1 171 (2) 168
3) 169 @) 170

052 10BN T ¥ BRTCW ERTLITNT. 53 BT 18R, 20, 5T NS TOBR) TS
TOMORT 73R. T @x% BF0NEA) BRTWTITO ?

(1) B IFo (2) T|RTO BB
(3) T Jwo (4) W TFT

Oeod® 0By @HY oY AYEONT WoDINY BooID 24 FRFAVE ©[T FORANWD
@R08R%N B3m —2), 2m +7), (4m —7), Bm), Bm + 2) 7eTS ‘m’ & 3 30D

& &C00.
1 7 2) 9
(3) 38 4) 5

BT wFewnY WIS 25% TUWRNTOOT [RTE 15% FREOCIPOWED TOTTY 2832,
WTZHBRR TUF Peo0 TRR 2R, ?

(1) 6.25 % @), (2)  6.25 % 3R

3) 125 % @), (4)  12.5 % 3@
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6S.

66.

67.

68.

69.

Which of the following are the factors of (a3 — 8b%) ?
(1) (a — 2b) (a* — 2ab + 4b?) (2) (a — 2b) (a* — 2ab — 4b?)
(3) (a — 2b) (a®> + 2ab + 4b?) (4)  (a — 2b) (a* + 2ab — 4b?)

The length, breadth and height of a cuboid is /" cm, ‘b’ cm, ‘A’ cm. If
[b = 60sq. cm, bh = 24 sq. cm, hl = 40 sq. cm, then find the volume of cuboid.

(1) 248 cu.cm (2) 240 cu.cm
(3) 600 cu.cm (4) 420 cu.cm

Solve the equation and find the value of x,
x—5 N x+2

5 ; 0
(1) 0 2) 0.7
10 13
G) @

A semicircle is drawn over a diameter. The circumference of the semicircle is
72 units. /(BC) = /(AO) = [(OC). Find the permimeter of A ABC.

A 9 C
(1) 42 + 1443 units (2) 5643 units
(3) 56 units (4) 423 + 14 units

Which of the following options is the co-efficient form of the polynomial
(x> — 4x)?

(1) (1, -4 2) (1,0,0,0 -4, 0)

3) (1,0,0,0, -4 4 (1,0,0,0,4

SPACE FOR ROUGH WORK
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65.

66.

67.

68.

69.

(@® - 8b%) EBoDBAL> R00OTINIES) 03R=e) 2
(1) (a — 2b) (a* — 2ab + 4b?) (2) (a — 2b) (a* — 2ab — 4b?)
(3) (a — 2b) (a* + 2ab + 4b?) 4) (a — 2b) (a* + 2ab — 4b?)

2000 BRFIVOD VT, WNRY, PSR WRTRON [, b, h 9N, b = 60 3.30.20e,
bh =24 @¥%0.820¢,, hl = 40 13%0.20¢, BT & BTS00 FPIFOBI ToBO SHROWO.
(1) 248 3.30.Q0¢ (2) 240 B.30.00¢

(3) 600 .Fo.Q0¢ (4) 420 3.%0.50¢

3SNI ﬁmeédwdﬁg{wm X' @ 2365 0w WROWD.
x—=5 x+t2_ 0

5 2
(1 o 2) 0.7
10 13
3 7 4 5

A ABC o0& 5w AC 39,3 SN0 B0md B RBOFY SRODERONRBS BTF #BoF YT BO
72 238 9%. BC =A0 = OC 2533 A ABC 03 B0a8 303D %R000

(1) 42 + 14/3 o22 (2) 56y3 288
(3) 56 3w (4) 42V3 + 14 238

(X7 — 4x) B3 WBOBOOI ABRIIF BRT BRI ?
(1) (19 _4) (2) (19 09 O) Oa _49 O)
(3) (1, 0, 0, 0, —4) 4) (1,0, 0, 0, 4)
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70.

71.

72.

73.

Sureshrao sold an article for Rs. 1962 and earned a profit of 9%. What was the

cost price of that article?

(1) Rs. 1900 (2) Rs. 1850
(3) Rs. 1950 (4) Rs. 1800

mon% If m = 30 then n = 5. Write the equation of variation.

(1) m = 6n (2) mn = 150
3) n=150m 4 mn =06

In APQR, angle bisectors of £Q and ZR intersect at point O. mZ0O = 130°,
msZP =7
P

Q R

(1) 50° 2)  100°
(3) 80° 4) 130°

A farmer purchased a pump at Rs. 6600 after getting a discount of 12% on the
printed price. What might be the printed price of the pump?

(1) Rs. 7500 (2) Rs. 6500
(3) Rs. 5700 (4) Rs. 8500

SPACE FOR ROUGH WORK
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70.

71.

72.

73.

FTEBT o0 WA 1962 TR NER WHTHW TNRRTIN AN IR 9 ot BAND
B[R0 VIS R, ?

(1) 1900 3. (2) 1850 Tn.

(3) 1950 3. 4) 1800 Tn.

Mok 9z, 0t Fed m =30, n = 5. AT B BB FR0eETed WICWO
(1) m = 6n (2) mn = 150
3) n=150m 4) mn =206

APQR B9, £Q 33y £R @ $pe30mu3ndd '0' omoasd ¢epogs. mZ0 = 130°

2GS m/P= DT ?
P

130"

Q R
() s0° (2) 100°
(3) 80° (4) 130°

2.2, WEONAT 0,000 DT V0T FpetHTT BT oD e Sesten 12 OBTEDECD
S080 @RBAR T 6600 TR. YR BRTEB TIMET WGT [0Q WS ), ?

(1) 7500 3. (2) 6500 3.

(3) 5700 3. (4) 8500 Tn.
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Instructions for the Q. 74 and Q.75. The sale and purchase of a merchant for the year
2017 for 3 months is shown through a bar graph. Observe it and answer the questions.

y Scale

T Viaxis 1 dm & 1000[< |
T T Indexi: Purchase

Sale 7

4 <—— Purchase - Sale (z)—
N
o
o
o
I

72
=

April. ~ May  June
Months

74.  What type of bar graph is it?
(1) Divided bar graph (2) Joint bar graph
(3) Percentage bar graph (4) Simple bar graph

75.  Find the ratio of total purchase to total sale for the three months.
(1 7:3 (2) 10:13
(3) 13:10 4) 7:5

SPACE FOR ROUGH WORK
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TR I 74 - 75 1 2 w9000 2017 B3 IRETYOL 3 oy D0l BRTW FoyRSeDTY,
BRBERNT. T Boedor FENT TINVT GVZOR0.

5
T T ----- HE e Y w3m e 1 Fo.awe=1000 T5.

10000 — i H e i aet Eslel¢al

0

M RNOCATHRTIRTR.ATO
(S}
o
o
o
I

v

9]
o
(£
(64
&
5
e
G
gat

SonEOnd

74.  3ne Boyndedsy 03 BTTmNTOZ ?
(1) Qw38 Foggodiedd (2) FeeR Foyoced
(3) ITISH ForSed (4) oo Fogwesed

75. 00T &ond 2830, 80060 TR one u%dnm@scimoc‘bﬁ RalowIN ms*megdﬁxpw?
(1) 7:3 (2) 10:13
(3) 13:10 4 7:5
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